Ol
Practice Problems: Flux integrals on surfaces o /KD J
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1) Evaluate the surface integral [ [;y dS where S is the part of the paraboloid y = z? + 22
that lies inside the cylinder z? + 22 = 4.
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part of the plane x +y + z = 1 in the first octant and with downward orientation (meaning
N has negative z component).

2) Evaluate the flux of F(z,y, z) = zze? i—zzev _) +2 k across the burface o) con51st1ng of the
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3) Find the flux of F = yit+(z—1v) -+ k across the surface S which is the tetrahedron with
vertices (0,0,0), (1,0,0), (0,1,0) and (0,0,1). Take S to have outward orientation.
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